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20224 BB F R AHH — D FIELFR
20224 B FRESTR — D FIERFL

Instruction | $2BB | {588

. DO NOT FLIP OPEN THIS FRONT COVER UNTIL YOUR PROCTOR TELLS YOU.
FEARWCE BEH ZRIERHT 7 A 2RI B L o

FEARN S W5 B WG/ HT I8 A ZERIF B

. This is a 25 question multiple choice test. For each question, only one answer choice is correct.
iR EAIESERIEER I, FEE H A IERE R

R B AIESE R R I, RHEE H A A IEE SR

. BEvery question is given a point value. You will receive full points for correct answer, and zero point for blank
or incorrect answer. The full score of this test is 100 points.

BHER HE AR E . BEE RN, BEEE A0 AUKHIBI I 7510057
FHES AR E M E. BB XFHE BFHEE AR AU 10057 o

. Only scratch paper, graph paper, rulers, protractors, and erasers are allowed as aids. Calculators are NOT
allowed. No problems on the test require the use of a calculator.

FUREAE I BRRAR RA. R BAGAE SR TR SIS EAuar He aHi
AATA LA G 2t o

HAEMEARARAL. gt R BAGAIREA/E N TR iR A Rirt e . Wil
AT AT TR REDA 3 5 208 FH 5 o

. Figures are not necessarily drawn to scale.

A — L LA

BT A5 Tl 22 ] o

. You will have 75 minutes to complete the test once your proctor tells you to begin.
BB R EAT BIAGTR . VoA A7S5 73 G A TR ] 52 S Rl
B BN EATTFIG) . ARHA TS5 PRI ) 52 B o



2022 Hong Kong Mathematics Kangaroo Contest - PreEcolier (Grade 1 & 2)

‘ Part 1: 8 problems, 3 points each

(E—#5: 8EER, W39 | H—H4: 8 EHE, FF3 5

1. Which box contains the most triangles?
AR T AEAZ 8 = Y R % 2

TANFTIEEG = AB R S?

(IN A
o B . 4 m Hom
= A A .AA
@
(A) (B) ©
AA A
o, b o g
(D) (E)

[Proposed by Finland | -4t | 3 2484 |

2. There has to be 2 coins in each row and each column. Where do you need to put the final

coin?
B T H — AT o fE — PR IEAT A 2 #Rre e ARG e AR — RO R AR AR ?
K T3 — AT fe i — DI 4FH 2 # T, & Ble e — KA T A 22

OO B
OO
O

A
Ol |p
El 1O

(A) A (B) B © C (D) D (E) E

[Proposed by Denmark | fF4-4%28 | A 464 |

2022 HHEBERARFE— D FIRFHL 1 2022 A HEF R RAER— D FIRF A



2022 Hong Kong Mathematics Kangaroo Contest - PreEcolier (Grade 1 & 2)

3. The picture shows 5 identical bricks. How many bricks are touching exactly 3 other bricks?

TERT S RARF G A SV R IT S A 3 AR A8 2

A 27T 5AMAE. A SV ReEITS A4 3 btk fik?
Gya—

(A) 1 (B) 2 © 3 (D) 4 (E) 5

[Proposed by Greece | # A%#E | A 544 |

4. One sandwich and one juice together cost 12 euros. One sandwich and two juices together

cost 14 euros. How many euros does one juice cost?

—BZREf—ERTERAZE 12 L, —AZRNEFRERTELLEZ L L. M—&R
TaEERES LR
—ANEZF—ERTERRZL2 A, —AZREFHERTELRLZ 4 L. FI—&R
TN S SR

=
=Y )
% +Uﬁ ..... 14

A) 1 (B) 2 ©) 3 (D) 4 (E) 5

[Proposed by Brazil | & &4 | & &4 |

2022 HHEBERARFE— D FIRFHL 2 2022 A HEF R RAER— D FIRF A



2022 Hong Kong Mathematics Kangaroo Contest - PreEcolier (Grade 1 & 2)

5. One animal sleeps in each of the baskets. The koala and the fox are sleeping in baskets
with the same pattern and shape. The kangaroo and the ostrich have the same pattern on

their baskets. Which basket is the puppy sleeping in?

A FRAH —EHMER. FEINZEAE LA AR E ERYRGE T2, RRAE
BT EAAR B K. M Fek e E & TA2?

BAGEFZHA — RN H R AILEE S FA A R E AR BT, A
By 0 F L AAR )69 B . s R B AR A 2

Wiy & Wi 00

2 3 4 5

A) 1 (B) 2 ) 3 (D) 4 (E) 5

[Proposed by Slovakia | &4 suBERE | Bi&AX o BhAL |

6. Peter puts the 4 puzzle pieces shown together to make a square. Which picture can he

make?
Peter fedn TR T =69 4 BB A S LA —A, BR—BEEFH. FILEABHEIMEE?

Peter fedn TP 76 4 e Bt A AL S E—A, BR—NEFTH. FILEBH R E?

RAEN

(A) u (B) . Q) D
(D) u (E) n

[Proposed by Denmark | fF4-4%28 | F- &84 |

2022 F BB E R RRE—DFIFH 3 2022 HHEFRAEZR —DFIKER



2022 Hong Kong Mathematics Kangaroo Contest - PreEcolier (Grade 1 & 2)

7. Some ink spilled on a piece of squared paper, as shown in the picture. How many of the

squares have ink on them?
o8 PR, BKBAE R L. S @A LA B KR
do B pTR, BKHE—KFHEKE. it S AT LR B K?

(A) 16 (B) 17 (©) 18 (D) 19 (E) 20

[Proposed by Greece | A {448 | A 454 |

8. Each year, Maria received teddy bears for her birthday. For her first birthday she received
1 teddy bear. For her second birthday she received 2 teddy bears. For each subsequent
birthday she received one teddy bear more than the previous year. How many teddy

bears does Maria have in total when she is 6 years old?

&%, Maria #r g M B L L et AL B Y, ARG E—AER, WK T 1ERALME, £
Rt F MAAER, WK T 2ERAME, IEGEEAED, AT —F Z NI —Ex L
it P# Maria 6 RAGEFAZE, IR £ S ETAA?

%, Maria #p 2K B LA RAE AL B A BRGF AL R, HB T 1 RWELAE. £
WG E ZANAER, WP T2 AL, ZEGEANER, WAL —F S —RA
A& o % Maria 6 F 690z, Wb B AR % 0 R AR

(A) 19 (B) 20 O 21 (D) 22 (E) 23

[Proposed by North Macedonia | 3t % J #8458 | b1 L4t |

2022 HH PR BFE— D RIKFR 4 2022 HHKFRAERE D FIRER



2022 Hong Kong Mathematics Kangaroo Contest - PreEcolier (Grade 1 & 2)

‘ Part 2: 9 problems, 4 points each
($-#s: EEA, SE4H | H-HH: EEE, BEWLH)

9. In one of the pictures below, a shape is used that cannot be seen in the others. In which

picture is it?
AETEG—RE T, ®ATELMEE ARG —AHAR FIRKE R
AT —REF, AT AELE P E T AR PR E R AP

AN

(mijii; (mzczfig_ ©
(D) E (E)
[Proposed by Iran | {7 BBt | 7 BA4L A |

10. Kanga wrote down a number and then covered each digit with a shape. Different digits
were covered by different shapes, and the same digits were covered by the same shape.

Which number could be written under these shapes?

Kanga & F—fE#, #E M AEKFTH —EHKREME, RRAGKFHRRGHRITE S,
8 B 69 FAEAR B 09 B ARPT B £ MIMBE ST At RAZ 4B AR PTE £ 092

Kanga 5 F—A#, #AKENFH —ABIREME. TRGBFHTF QT KRITE E,
A8 ) 69 B F AR B 69T RPT R B o FIRANECT b R AKX A R BT B £ 69

A4 LT

(A) 34426 (B) 34526 (C) 34423 (D) 34424 (E) 32446

[Proposed by Greece | A B2 | A 454 |

2022 F BB E R RRE—DFIFH 5 2022 HHEFRAEZR —DFIKER



2022 Hong Kong Mathematics Kangaroo Contest - PreEcolier (Grade 1 & 2)

11. Kanga wants to reach the koala without going through any of the coloured squares. Which

route could she take?
BREALRBBET—BHEFTRGF R TR EHE AL, ARERT LA IR 472

RABERGEIET—AHE TN IFALTEAFEEZARL . A AW LI 5B K?

e

M)JW»»ff»»ff»»»@ m)JWQ»ff**#**ff@
© ST I39998 D) Sttt teeeB
Sttt T

(E)

[Proposed by Denmark | fF4-4%28 | f- & 44 |

12. Which option shows the view from above this stack of discs?
AMERIA B T T A ARG B o & TR AALE

AN LR R T K & 69 B 7 éy T LRI ALE ?

©

[Proposed by Kuwait | FFaA4F4EA | FH R4

(A) (B) ©

(D) (E)

2022 F BB E R RRE—DFIFH 6 2022 HHEFRAEZR —DFIKER



2022 Hong Kong Mathematics Kangaroo Contest - PreEcolier (Grade 1 & 2)

13. Three zebras take part in a contest. The winner is the zebra with the most stripes. Runa
has 15 stripes, Zara has 3 more than Runa. Runa has 5 fewer stripes than Biba. How many

stripes does the winner have?

ZERES T —HE, BHELHA R 4035, Runa A 15 Efk4, Zara 6914
4tk Runa % 3 /8. Runa #9144tk Biba v 518, M¥EBEA % VEMGE?

ZRBL LT =R, FMERMA RS LU Y., Runa A 15 M4, Zara 694
4k Runa % 3 4~, Runa # &4tk Biba 5 4~ BHEMER £ VAL

(A) 16 (B) 18 © 20 (D) 21 (E) 23

[Proposed by Slovakia | &4 suBRE | BT i& AR L BEAL |

14. Which of the following pictures will we see when we use the stamp shown?
F BAVEI o B P 09 FRBRF, RN @A B A TAREE A2
L BRAVE I o B P A9 MR R, AT AR B A TRIKE A 2

=4

N Ny
w O3 o BT o 370
o 50 » 550

[Proposed by Poland | % B #5R8 | & 2454

2022 HFHEHERAFE—DEIKFR 7 2022 HAAKFEBRRAER —DFHRER



2022 Hong Kong Mathematics Kangaroo Contest - PreEcolier (Grade 1 & 2)

15. Katrin builds a path around each square using tiles like the one shown. How many tiles

does she use around a square with side 5?

Katrin f4e 8 7769 A& £ BB E 5 B BHEET —15%. MRENMEERSLS HEFTH
FIBER T % Vi imk?

Katrin A4 B B & 69 £F A EANETH R BMET — 5% PHCERNLRKA S 6 ETH
REAERAT %0k 5%?

2

(A) 10 (B) 11 (O 12 (D) 14 (E) 16

[Proposed by Denmark | fF4- 488 | A 24544 |

16. Ann has 4 stickers as shown. She sticks down the star after she sticks down the square.
She sticks down the star before she sticks down the triangle. Which picture could she end
up with?

Ann F 4o 8 P69 4 TRAL K. WA TESZ B AT EEN. WA= AV I TIEET 2
o FIWRIK B 7T At M RARAT 5 692

Ann Ao B e 4 kb k. MAMTEF KT EEH, AN AFKIWNCELET Z
Ho FRIKE T Ak 24 R 5 17 5] 692

ol A
(A) i (B) & (@) &

(D) & (E) g

[Proposed by Poland | & #4548 | K 2454

2022 HH PR BFE— D RIKFR 8 2022 HHHMFBRRER— PSR



2022 Hong Kong Mathematics Kangaroo Contest - PreEcolier (Grade 1 & 2)

17. The sum of the five numbers in each house is 20. Some numbers have been painted over.

What number is hidden under the question mark?
HFRG T L0 A A AR 20, A LBAOHEEET . AR MR T @ISR A AR E R

ST L0 AR AR 200 A LB EET o ARAFE 5T @R ZARA SR

(A) 3 (B) 4 © 7 D) 9 (E) 14

[Proposed by Poland | 7% #4428 | & 244 |

‘ Part 3: 8 problems, 5 points each
(=% 8iEEA, WS4 | H=HH: S EEE, EES5 5

18. Some lawns are shown below. Which lawn is the smallest?
FRBTT — 2, MR R R
T@E%T”@ﬁ#oﬁw&ﬁﬁ%ﬁ$%?

[Proposed by Greece | # {A%AE | A 544 |

2022 HH PR BFE— D RIKFR 9 2022 HHEFRAEZR —DFIKER



2022 Hong Kong Mathematics Kangaroo Contest - PreEcolier (Grade 1 & 2)

19. There are 30 students in a classroom. They sit at desks in pairs in such a way that every boy

sits with girl, and only half of girls sit with a boy. How many boys are in the classroom?

HERSMEE L, WPIRFRL, BEFEARE—ALHLE R, LHRA—FHLH
Ao f B, MBERA S VMEEA?

FHEROANF L, AR, AT EMRE NI HZLE—R, FARA—FHLH
Ao AL —H. FIREELR S VAR A?

(A) 10 (B) 15 ) 17 (D) 20 (E) 22

[Proposed by Greece | A B{A%#2 | A 4442 |

20. Dino moves from the entrance to the exit by going through rooms. He can only go through
each room at most once. Dino adds up the numbers as he passes through each room. What

is the highest total Dino can make?

Dino F# 5 M AT A5 v, 85 K&
8943 AL . B Dino #8433 49 & K69 48 An

do

% R A8 — ok, Dino fe & i 18 5 I
%)

Dino ¥ it AAA T £ B v, A AR S Rt %iE— k. Dino ez L A% A
4
2

%5 AL k. B Dino AR /38|69 R Efe R % b2
| | | |
P AREREREN
| | |
|_5 6 7 8 —»
| | | |
(A) 27 (B) 29 Q) 32 (D) 34 (E) 36

[Proposed by Catalonia | #n %% & Z4E8 | ho & % R T4 |

2022 HHEBERARFE— D FIRFHL 10 2022 A HEF R RAER— D FIRF A



2022 Hong Kong Mathematics Kangaroo Contest - PreEcolier (Grade 1 & 2)
21. Lena the panda has 30 bamboos. She eats 3 bamboos each day. She ate 18th bamboo on
Tuesday. On which day did she start eating the bamboos?
fe 5% Lena A 30 R4 Fo HERCIBRATTo RAZH —red) 5 I8 R F. MEEARKE
A& B e AT T 492

Aesh Lena A 30 4RA4F Fo A Rve 3RA To Mt ZH —r0 9 5 I8 R Fo MHANE

R JUFFHa e 45 F 89 2
(A) Monday | 24— | 28— (B) Tuesday | 2= | 24 =
(C) Wednesday | 28 = | ZH = (D) Thursday | 2#w | 24w

(E) Friday | 282 | 24 &

[Proposed by Russia | 4% Z Jr#5A8 | 4% F A AL |

22. In the picture, each shape stands for a different number. Which number should be written

in place of the question mark?
T B P AR A B RR 93 F o PAME BT MR B AP SRR

THYHEAWRRE-ADARF KT FRART RIZE 95 4?2

—t 5

OO O 18
A OO

A O A 10
14 2

(A) 10 (B) 12 (O 14 (D) 16 (E) 18

[Proposed by Estonia | % 7 & 244 | & i R AL

2022 HFHEHERAFE—DEIKFR 11 2022 HAAKFEBRRAER —DFRKER



2022 Hong Kong Mathematics Kangaroo Contest - PreEcolier (Grade 1 & 2)

23. In how many different ways can you select two digits out of 0, 1, 2,3, 4,5, 6,7, 8, and 9

and put into the two boxes to make the below equality correct?

0. 1. 20 3. 4.5, 6. 7. 8. 9 v EEREIRT, BHEARBFTIETF, BFTHEGEX
ML, B % VIERRE G X?

JAO. 1. 20 3. 4. 5. 6. 7. 8. Ot BAmAKTE, FEABBAFIETY, SFTHHEX
R, H%IVHATREGTX?

20-0=22-0
(A) 7 (B) 8 Q9 (D) 10 (E) 12

[Proposed by Switzerland | #% 4% | 35 455 |

24. Kangy’s car can only turn left. It can never turn right. Which of the following five routes

can Kangy take?

Kangy 69 % R4t d £A# . €K&k Tk & & . Kangy 7T AL F T & AR HAE T 699 — 1547
iH#?

Kangy &9 % R ftd) £ 35, € KZ T & & 4. Kangy T AL & T @ L5342 P 99— 547
#?
® L ?Q

(A) (B) Q)

Al |V

(D) ® (E)

[Proposed by Hong Kong | & #RE | 8454 |

2022 HFHEHERAFE—DEIKFR 12 2022 HAAKFEBRRAER —DFHRER



2022 Hong Kong Mathematics Kangaroo Contest - PreEcolier (Grade 1 & 2)

25. There are five numbered cards on the table as shown. You may swap two cards at each

step. What is the smallest number of steps needed to put the cards into increasing order?

WEHR, RTEHERGBROFS . B—FRTABARES . FERVERS VP
7 He M S BT HE T2

WBAT, RFTEAEZRBTOF R BT RTAXBEAKRKF R RLARIEL S

TR F A A RS
34|1|[d]2

A) 1 (B) 2 ) 3 (D) 4 (E) 5

2

\S

[Proposed by Hungary | & F #4488 | & 5F #1454 |

2022 HFHEHERAFE—DEIKFR 13 2022 HAAKFEBRRAER —DFHRER



